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Answer any five questions :
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2x5=10

Prove that the correlation coefficient is
the geometric mean of the two
regression coefficients.

(b) PID ONE AR ABPIERR FaX TTwoR
R foran o

State the limitations of Laspeyres’
formula for the construction of index
numbers.



(2)

() 2,4wsawmmwwmmﬁ=ﬁu
901

Calculate AM and HM of 2, 4 and 8.
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Write the two models used for the study
of time series.
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“The correlation coefficient between two
variables X and Y is r and r2 = . 5.
What can be concluded from this
statement?
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What do you mean

by business
forecasting? ‘
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What is the difference between Karl
Pearson’s coefficient of correlation and
Spearman’s coefficient of correlation?
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Define price index number and quantity
index number.
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Which measure of dispersion 1S
regarded as the best and why?

. (ii) mﬁmﬁmwmq 1-46, S0 \
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No. of Students

faevg 5152

No. of Days

TR fRefT w4t .
The AM of the following distnb.utllon
is 1-46, find the missing
¢ frequencies : ' .
o 1 2 3 4 5 B
B Total
46 f, f, 25 100 5 200

(i) =TS ’@v'm%ﬁa amoe Reem Refa
9 : | o
" Calculate the standard deviation for
the following data :

7

T (5T) \ TRRIRA |
\ Wages (in ) No. of Men

0 and above S0
20 and above 45

40 and above 34

60 and above 16

80 and above 6

100 and above 0
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For any two values, prove that

AM > GM = HM

(@ 255 AT My, NHH wF 7T T
TS 143, 144 A< 147. TR ATS 661
I T9 I FWS 132, 125, 130, 160,
165 TIF 157 @5 341 2’9 | @ 3181
AT M =1 TRH fRefy 41 4
The mean, median and mode of a
group of 25 observations are
143, 144 and 147. A set of
6 observations is added to this data
with values 132, 125, 130, 160,
165 and 157. Find the mean and
median for the combined group of
31 observations.

(i) were fagn oA TR 14 SF AN
Rveret faefey <o \ 7
Calculate AM and..SD. for the
following data :

: W]ﬁ”j : 15 20 25 30 3‘5‘ 40 45 50 55
Midpoint -
SIS ESIE18 02 22 19 14 3 4 6 1 1

Frequency

3.

(@) (1)

(b)
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Define Karl Pearson’s coefficient of
correlation. ' '
()RR RO AT Rsw
HCADAT 341 |
Discuss the uses of regression
analysis.
(iii) w=re fm SURE o[l FAEETR FARNAA
E‘BT Tferedt -
From the following data, find the
two regression lines :

t5)
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X =90,V =70, N =10, 2. X2 =6360,
$Y?2 =2860, ¥ XY =3900

%/ Or

X S® Y 7 Rl AR Qe
r=0.-60, X W& YI RN TS
225 &% 4-00; X =10, ¥ =20.

S oURffE R Y FeeTE X3
AR AN Tforear 1 _‘
The correlation coefficient of two
variables X and Y is r=0-60,
variance of X and Y are respectively
925 and 4-00; X =10, ¥ =20.

From the above data, find th_e

regression equation of X on Y.
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Calculate Spearman'’s rank
correlation coefficient from the data
given below :

X : 11 12 13 14 18 15
Y : 13 12 15 14 16 11
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(i) (TN @ RoRa PR R

(iii)

afScam =Ry B 33

Prove that Fisher’s

I 4

index number

satisfies time reversal test.
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Find the quantity

index number

(i) =R SYRFT o[1 oy QI T from the following data using
faefy 1 7 Paasche’s and Laspeyres’ index :
Find the value of the coefficient of ‘ . 4
correlation from the data given ST % 7%% bfeTe 979
below : i Items Base Year Current Year
. @) | aRme | gmEe) | R
e
Inco(j:l(}(m " 46 54 56 56 58 60/ 62 Price (in ¥) Quantity | Price (in ?) Quantity
A 4 10 6 15
735 (5=1) 36 40 44 54 42 (58 s4
o ! B 6 15 4 20
Expenditure (in ) |
(l c 8 15 10 4
. 3T/ Or
4 @ () wFre RR =m wF w9 /R =W
: ORI TS 21 AL o | 3 (b) () &R Bz W pors B2 R AR
.- Write the differences between chain _ e A 2 e e e 3
¢ . base index and fixed base index. What is cost of living index? How
LT A does it help in policy formulation by

the Government?
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(i) R e R s e I o : (i) < cle e P g W
TN 4 | oo PR & &2 4
Why Fisher’s index number is : What is trend.in a time series?
regarded as an ideal index number? ‘ State the factors responsible for

trend in a time series.

(i) o=S rar suRF e a?ﬁ’ ryed
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i) FEew ©f ATAR GRS OO fea
SR 2|1 egerel fRefg 4 7
Calculate trend values by using the
method of least squares from the
data given below :

From the following data, prove that
Fisher’s index number satisfies
(1) time reversal test and (2) factor

|
|
!
reversal test : | I%9 / Year - 2001 2002 2003 2004 2005 2006
¥/ Values : 101 107 113 121 136 148
TR Py 9 Py 9 l
Items : q3T/ Or
A 4 20 6 18 |
B 5 15 6 0 ‘ (b) () <O @Y RE@EPW 2T (000 H7S)
c 9 0 3 % | oerel ARG Y, = 20-2 -0 8t. FIRY,
D 1 50 1 60 | 2001 (1&7 TEAR), t3 &9 = 1 =7,
2 g \ Y ¢3F IASN 490 | 2ROl FANII
E ] 28 | TR 2010 5 “RTE 41
| The trend equation for publicity
. | t (¥ in '000) of a company is
5. (@ (i) T I eTEameR  RAd - cos
A WWCHZ . N Y. =20-2-0-38t. Origin 2001
e, ! 3 | (1st July), t unit = 1 year, Y unit
Discuss the uses of studying time ‘ = yearly cost. Shift the origin

SETicy. | to 2010.
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(i) e fom ouRfR 3 I e Ie

AT oSt Refy =1 ¢ 4

Calculate 3 yearly moving average
from the following data :
I/ Year : 1 2 3 4 5 6 7 8 9 10
ars(Be) ¢ 20 21 23 22 25 24 27 26 28 30
Profit (in €)

(iii) Wﬁmwﬁﬁaw@ﬁaﬁawﬁw
34 WF 2010 579 279l ey 4 7

Fit a straight line trend to the
following data and estimate the
profit for the year 2010 :

974/ Year : 2001 2002 2003 2004 2005 2006 2007
s ('000%%Ts) : 60 72 75 65 80 85 90
Profit (000 in ©)
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Discuss about demand forecasting.

(i) T oferE MARESRER, ST
M1 9
Discuss the limitations of business
forecasting. . :

(A1)
%3/ Or
(b) (i) <O, SE oEE omfeq ANl
(IMBRETS Scese 49 1
Discuss the factors of a good
forecasting.

(i) mmmﬁmww'

Discuss the steps for forecasting.
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